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Section A : (30 x 2 marks)

For each question from 1 to 30, four options are given. One of themr is the correct
answer. Make your choice (1, 2, 3 or 4). Shade the correct answer {1, 2, 3 or 4) in the
Optical Answer Sheet (OAS) provided.

1. The bar chart below shows how the weight of a baby changed durlng the first 6 months
of his life
Weight.of |
a baby
(g}

The bar chart shows that the baby is able to

(1)  est

{2y grow

(3) reproduce

(4) respondto changes.

2. Muthu and Tim hotiqed a:greeniplaiit growing befween the branches of a big tree in the
school garden.

Muthu teld Tim that it was: amen-ﬂ@wenng: Rtas it had -no-flowers. Tim could confirm
Muthu's statement by f"neimg out if the plant had

(1} stem

(2) roots

(3) leaves

(4) spore bags

3%



3.

Study the flowchart belaw.

Living things.

“Can it move
from place {o
-place?

Does it fay
eggs?

Canit
make its
own food?_

Which one of the foH_oyving best represents organisms P Q, R and 87

P Q R S
i1y balsam toadstool duck crocedile
2) ginger cat chicken
(3) mushroom bat platypus.
{4) | bracket fungus ow ' deg




| _The picture below shows a fish.

Which one of the following correctly désciibes the functions of the labelled parts of the
- fish?

W X Y 7

(1) | helps the fish to helps the fish to pretééts the fish | protects the gills
balance . meve forward N

{2) | helpsthefish to | protects the fish taksm food

move forward

(3) | attracty other passes out KES AL takegin air and
fists | water _ c@{@uﬁu; 7 7 &

(4) | helpsthefishto | makes it fook keep the fish
| step - colourful Wama

Which of the following statements corredtif describe the following group of animals?

1 goat horse spiny l@lﬁjt;ggter bat

They give birth to their young alive,

They produce milk to feed their young.

They have hair or fur as their. body covering:
They move from place to place in a siwiitar way.

oowr

(1) AandDonly
{2) BandConly
(3) A;BandConly
{4) A,B,CandD
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- The picture below shois a plant with parts labelled E, F, G and H.

Which one of the folfowing statements is false?

(1 } Part E stores faed

white rose

[eaf stem

- beaker of blue
: coloured-waler

What cOnél‘usion can he draw from this experiment?

{1)  Roolstake in water.

(2) Roseplantsneed coloured water.

{3)  The stem traasports water to the flower.
{4) Goloured water cannot travel to the leaves.




8.

The picture below shows a ginger plant.

Which one of the follewing shows the correct name for each of the plant parts, A, B, C
and D above?

A B ¢ 5
(1) leaf fruit root stery
(2) leaf flower stem . root
(3) flower leaf stem root
4) flower leaf fruit stem

gy



g.

Which one of the bar graphs belowscorrectly-shows how the mass of the seed leaves

ehangesias a plant grows?

(1) ,
mass of
seed
leaves (g)

(2)

mass of
seed
leaves (g)

mass of
seed
leaves (g)

mass of
seed
leaves (g)

seedling

seed adult plant
4

][]
A rseedr séedﬁﬁg, aduwjﬂérﬁ

seed seedling adungﬂént
3

seed Séédﬁﬁg ai;;;;lnt




10.  Huiyi wanted-to find out if the ameunt Of, ltght tiaatﬂae—pfant is exposed to.weuld affect its
growthe Which two setnups should she use to ensure that her experiment is fair?

4;’; @— light QA— light
sQuree Vs source

AN //\\

| black
box
st
P plant
- light light
s\ source

ssdree
AN aree

Set-up C

(1  SetupsAand C
(2 Setups Aand D
3 Set-ups B and C
U Setups Band D



11.  The pieture below shows a young plant.

soil

Which of the following statemefits about the plant at this stage of its life cycle are
true?

{f ¢an now reproduce.

It can use its leaves {o make its own food.

It dogs #ot use the food from the seed-leaves.

1§ religs-on its roots to obtain water frem:thé soil.

oowk

{1 A and C only
(2) BandConly
(3) CandDonly
(4) B and D enly




12,

i3

-Siudy the.classification chart below.

Human Systems

l.

Group A Digestive ' Group D
skull : { 1 : nose
rib bone | Group g ' ‘ Greup G - | windpipe
‘backbone | R _ a ' fungs
mouth ' gulfet
- stomach farge infestine
[ small intestine | anus

Which one of the fo!l'o,Wirig'- shows the correet headings for groups A, B, € and D above?

Gioup A | Group B 1 Gr.'e.u_p'D'

(1} | skeletat | prddti@éf digestive ‘_ré;é;iiir:éfory '
' | juies .
{2) skeletal cuts food info small { ‘respiratory
pieces ﬁ
(3) circulatory | absorbs nutrients cuts food.into small | circulatory
' pieces

(4) muscular absorbs water absorbs nutrients skeletal

Which one of the following is a function of the muscular system?
(1) it provides support for the body.
(2) it enables different parts of the body to move.

{3) it transporis oxy,geh—t'o every part of the body.
(4) It breaks down food into useful nutrients for the body.

10
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‘14, The pictures below show two himan systems X and Y.

System X System Y

Which one of the following statements correctly describes the difference between the
two systems?

{t} System X gwes‘the'body s -shape but § stem ¥ does not.

{2) Sy _Iﬂ Kod bi but:system Y does.

13}  System X Body biif syster Y dees not.
(4) System X removes waste pr@ducts from the bedy but system Y does rof.

11




15.  Study the flowchart below.

Start

, Is it
transparent? 2

Is it
flexible?

Does it break
easily when
dropped?

. No

=olear-ﬂfasﬁc bag toothpick .~ rabber band ceramic cup
plastic ,ba_g toothpick qubberband ceramic cup
{7 L ' K M J
1@ M J L K
B M K | L T
4 L J M K

12



16.  The diagram below shows the stages in the life cycle of a mealworm.

Stage X \

Mealworm Beetle

Stage ¥ | /

Which one of the following best represents stages X and Y?

Stage X | Stage ¥
) larva €49’
{2) pupa aduilt
(3) adult ' larva
(4) egy pupa

17.  An empty plastic bottle is heid below the surface of a container of waler as éhowri in the
diagram below. When the beltle cap is removed, which ona of the following
observations would you expect to see?

container

boltle cap —

plastic bottle prEne] = - — water

(1)  Water will flow out of the container.
(2) Air will-be trappedin the batte by the water.
(3}  The water: levelin the container begins to rise.

{(4) Bubbles of air will be seen coming out from the bottle,

13




18.

19

The table below Shows the classification of some substances.

Grou;:i-,A | ‘.Gi',c_)u_p B _ Group C
Steam - - Dew Snow
‘Water Vapour -|  Rain Drops "~ Icecube

The substances are classified according to

(1)  their states
(2}  the types of materials

{3} - whether they ¢ar be compressed

{4y  whethier they have a definite shape

Study the classification chart below carefully.

Matter
Allows most light Does not allow any
to pass through light to pass through
[ ] T 1
Has a Has no Has a Has no
definite definite definite definite
shape shape | shape shape
E : F ’ -G . H .

Based on the classificauon chart above, which of the matter(s) CANNOT be solid?

(1)  Fonly
{2) Honly
()  Fand+only
{4) Eand G only

14
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The diagram below shows 4 contaihérs;oﬁ di.f-fe-rent vél’urr‘zes_; .

400mt

250mt
BOmI

Which of the containers can be totally filed with 150ml of air?

(1) Aand Conly
{2) B and D only
(3) A, CandDonly
(4) A,B,Cand D

De Ming placed an iron toy car on a board made from thiree different materials, &, B and:
C, which were glued logether. He used a magnet to move the toy car frem point P to
point §. However, the toy car came 1o a stop at'q ‘Point R.

P Q R S
’ iron toy car ! i .
' : : i !
; : . :
' : : :
‘, 1 1] . 4
' A B c I— board

magnet ———* djrection the magnet was moved

What could materials A, B and C be made of?

A T T B

(1) copper steel
(2) steel ' iron
(3) iron : copper
{4) wood _ plastic

15



22.

An iron rod is magnetised by using the stroking method, as shown in diagram 1 below.
Diagram 2 shows a compass.

-

~—

magnets

: - .
N S -4 )
Q———*—»
{ D)

iron rod ~———{&:

Diagram 1

compass

N

Diagram 2

Whern the magnetised rod is placed near the compass, which one of the foliowing

coreetly shows the position of the compass needle?

(*}

(3)

LA

tA

@

B

Al

(4)

iB

A] =

16
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3. The di'ag,‘ram below shows 'a.-be‘r;t—tUbe with a flower at one end.

=

flower

eye £ = |

bent-tube

Dolly wanis to see the flower through the bent-tube. In order to do that, what is the
minimum number of mirrors she wauld need to place within the tube?

(1) two.

(2) three
(3) four
(4} five

June carried out an experiment to find out the amount of light that passes through three
objects, A, B and € respectively. She - shene a torch at each. object and used a
datalogger to measure the amount of light that passed thiough each object. The graph
Below shows the results of lrer experiment.

I
e

Amount of light detectad (qu)-

A 8  C objects

Which one of the following best represents objects A, B and C respectively?

] A ‘ B C
) sunglasses clear glass cardboard
(2) | tracing paper mirror clear.glass

mirror

)

sunglasses

{racmg paper

&

cardboard

sunglasses

tracing paper

17




25. Samad carried out an experiment with an electric forch, a mug and a screen as shown -

in the diagram below. He changed the position of the mug fo observe the shadew cast
on a screen. ' ‘

—]

electric torch

Screen

(1) A and B enly

{2) B, D and.E only
(31 C,DandEenly
(4) A,B.CandDonly

18
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26.

Four pupils observed the shadows cast by the obijéct below when a tight source was
shone on it. )

The diagrams below show the shadows of the object cast on a screen.

Based on the shadows cast, each of the four pupils made a stalé@ment as shewn belew.

Don: There is no change in the dirgelion of the light source and the distance
between the object and the light:Source.

Peter: There is a change in the direction of the light sourféze and the distance
between the object and the light source.

Lucy: There is a change in the distance between lhe object and lhe light source

but the direction of the light source remains unchanged.

Annie: There is a change in the direction of the light source but the distance
between the object and.the light source 'remains*unchanged-

Which ane of the above pupils makes the correct observation?

(1) Don
2y Peter
{3) Lucy
{4) Annie

19




27,

On a dark n[ght Paul wa!ked from pomt Ato pomt E passmg the street famp as shown
below. : .

SEL N

== street lamp

4

Which one of the following graphs best represents the changes in the length of Paul's
shadow as he walked from point A to E2

(1) . (2
— —
Eq &
g 21
& | o,
G / k<R /\
s . £ \
oh | &, \
§ 5
- -3 1 ; T S = 1 7 T 7 T
A B C D E Position A B C D E Position
{3) (4)
A ik
£ E |
2z
S 3
fu! o
5 B
s ]
G e
U} =
[ong [=)]
Q -
— T T I T - . 9. . : y : —
A B C D £ Position A B C D E Position

20
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28

The diagram below shows _‘a‘boy ina foom_ with ‘Q"Iém'pf'aé»_it‘i_s oniy_iight.source..

[

Which one of the diagrams below shows correctly the path. of light that enables him to
see the book on the table?

(1) | (2)

(3) _ (4)

21



29.

30.

Which of the following isfare NOT a source of heat?

(1)
(2)
(3)
(4)

The Sun

A battery
The Moon
A lighted bulb

TOoOmrE

C only

B and C only

A and D only

B, Cand D only

Rahima sef up the following experiment. She recorded the.changes in temperature of
the water in the beaker for 5 minutes.

The graph below shows the changes in temperature of the water during the 5 minutes.

Temperature
100°¢ |
B\
1A | c D
G°C . g
' Time (min) .

At which point of the graph was the burner removed?

{1y

{2)

(3)

[C3)

A

B
C
D

~~~ END OF SECTION A ~~~

22
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:S'_ection B : {40 fﬁ.arks_}

For questions 31 to 44, write youf ariswers.in this booklet.
The number of marks avarlabIe is shown inthe [ ] at the end of each question or part
quesnon

31.

Hassim wanted fo find eut the conditions necessary for bread to become mouldy. He
put some bread in threé air-tight centamers The conditions of his set-ups are given in -
the table below:.

'Set-up | | A ' B'-'_ C

' Has the bread been t@asted‘? | Yes T Ne | No

Niimber of bread o 2 1. 2

Location of container. ; darkv and damp ' bright and dry | dark and damp
' room | reom foom

{a}  Which two setups should Hassim compare in ordér for his experiment fo be a

Ft
‘{b)  Explain your answer for part (a). 1]
(c)  Which set-up, A, B erC, will result in ihet{eas;t-':.:rh@uldy bread? [1}

bl



32. Study the c!assiﬁcaﬁon.‘eharﬁ be["o'w; B

_ Animalé -
Insects _ Mammais | Reptlles
ant -t dolphm B snake
caterpillar | - | penguin 1 torfoise
(a} Which one of thé organisms above has been classified wiongly? )

(by  Using the same classifi cation chart, where would you place this’ organism slated
in (a) above? Explain your answer. [1]

33 The diagram below shows two plants, A and B.

During a heavy thunderstorm, whnch plant, A or B, is more ilkely to be uprooted?
“Explain why. . (2




34. Corrina found some_leaves- She made some obsérvations about the leaves and
decided to group them by placing them info separate boxes as shown below.

Box X

Box Y

Her friend, Traey, then gave her leaf R.

leaf R
(a) In which box should she place leaf R? [t].
(b)  Give areason for your answer in (a) above. (1]

63



- 35, The following diagrams show different stages in the growth of a bean plant.

(a)

(b)

A B C D

Fill in the appropr_iaté letters, in the boxes below, to show the correct sequence of
thegrewth of a bean plant. i

Amanda planted four red bean seeds, M, N, O and P, in four different positions in
the soil as shown below.

D @ @ CD _)——-— soil
M N 0 P

Within a week, she made the following observation shown in the diagram bélow.

B G G
o iL zk bk 3&_)_ oot

N O P
(i) What conglusion can Amanda make -about the way in which the young

I,

shoot

plant grows in relation to the position in which a seed is planted? {1}
(i}~ Why do the.shoots grow in the direction as shown above? _ {1l
5




36: The diagram below shows the human dige.sti\.ke system,

{(a) Name parts §, T, U and V above. [2}

S:

- T:

U:

V:

{b} State one similarity in the main function between parts S and U. [1]

fc)  State one difference in the main.functidh between parts U'and V. 11




37. A designer wanted to make a durable dining table. He was gwen four dlfferent'
materials to choose from. The table befow shows the propert;es of the four materials,

_-:‘I ateriai L Property :
| Waterproof | Flexible | Hard | Floats on-water | Transparent | Strong. |
" * x | v vy T v
X x v % x - -
Y v % . N v " i
z v v « % v -

(a}" Which four properties above must be considered féﬁ'gpaking- the dining table? {[2]

(b}  Which ong of the above materials, W, X, Y and Z, is the most stitable for making
his dining fable?

f1]




38.

" Husssin set up an experiment as shown below.

inverted qlass

: frough
=t water

He:fock a deep breath and blew into the straw. He observed that the water level in the
inveried glass drepped.

(3) Whatis the aim of his experiment? "

{b) Describe two'atlzeh observations that Hussein would make when he blew Into the
straw. 21

()

i) |

67



39. Salleh camed out an expenment by filling an alr-tlg_ht contamer w1th three substances
W, X and Y, as shown in the dlagram beiow : :

“air- tfght sea}

inlet

container o R

Next he added more of substaree X mto the container whifé-no-substarices W and Y
were added or rémoved. The new levels of substances W, X and Y. are  shown below.

inlet _air-tight seal

4 e i
1‘4‘.\‘;‘ e,
B SR v‘b
YA '3"?0‘1’0%6‘&
%&%eﬁ.ﬁ%&éeé(o

g

container X
v
(a)  ldentity the states of substances W and X. [2]
W:
X:
(b) Explain your answer for substance W above. (1]




40. Diagram A shows the metal frame of a special pyramid and diagram B shows the sides
of the mietal frame being covered with eardboard.

e 7y

Biagram A Diagram B

A torch Is shone on the pyramid from fwo directions, X and Y, as shown in the diagram

below.
ﬂ Position X

position Y

(a) Draw and shade the shadows that are formed when the light is shone on the
pyramid from positions X and Y in the boxes below. (21

Position X ' Position Y

(b) Would the shadow of the pyramid cast from position Y be different if the metal
frame is covered with blue cellophane paper instead of cardboard? Explain your
answer. ' _ [11

10



June cafried out an investigafion with-the fellowing set-up. She placed one maferiat in

.- front of a torch and used a light sensor to measure the amount of light that passed

through the material. She repeafed her experiment with five other materials of the same
size.

matt.erial I_i ght
torch Iight sensor
wooden [ ' T y
block 7
15cmy 10cm

She recorded her results in the table below.

Type of material Unit of light defected {{ux)
None 330
A 0
. B 80
C 324
s
D .97
E 0.
F 305
{a)  What is the aim of her investigation? f1}

{b) In terms of transparency of the nqéf‘e:ﬁai;-_s; June classified them into three groups
as shown below.

Group 1 Group 2 Gréup_ 3
A C B
E F D

above. [11/2]
Group 1:.
.Group 2:
Group 3:
{c)  Give an example of material £? BRVE]

11



42. Alvin was given an iron nail, a battery and S_dr'né Wiz_—‘e’s‘- to n’iéke‘_an éféctromagnets.'

rattery

fron nail

(a) Cemplefe the diagram above by drawing in the wire(s) so that the nail will
become an electromagnet. (1]

(b)  Next, Alvin replaced the iron nail with a copper nail-Would there be a difference
in his result? Explain your answer. [1}

(c) Other than the use of electricity, what is the difference between a bar magnet
and an electromagnet? (1]

12
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43.  Lisa measured her body temperature with a clinieal thermometer in her room. The robfﬁ 3
temperature was 30°C. The reading on the clinical thermometer is shown in the diagram -
below. )

fiquid X

{A) bulb (B} censtriction {C) glass tube (D) tin

(a) What was her body 'temperature? . [1}

(b}  Liquid X is silver in eoleur. What is this liquid? (11

{c)  Which part of the thermomet_er,- A, B, Cor D, should be placed in direct contact
with the body to measure Lisa's temperature accurately? [t

13




a4l John left a cup --of"warm: ‘water i an air conditioned room for twelve minutes. He
_recorded the changes in temperature of the water in the table below.

(a)

(b)

 Time {min) | Temperature {"C}.
- 0 38
2 32
-4 28
8 26,
23 22
10 22
12 ?
What would be the femperature of the water recorded at the 12th minute?
Explain your answer. - ' 2]
Based on the resulis above; plot a line graph in the grid given below. [1]
40, : . ; : : M
SR o ST SRS RSN S SO
Qb R S St RS
g a0 [T T
3 _______ AT e ress=TT b A r——===- FT-—-—-—~—- T
A B S S L I K K
R R Rt ot e s
———————— T et e
520 T
= I S Sy B SN
I I S I, - e :
10 |

o~ 2 4 6 8 10 12 Time (min)
~~-End of Paper ~~

14
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EXI-\I"I FAFER 2012

SCHOOL : CHIJ o
SUBJECT: PRIMARY 4 SCIENCE

TERM : CAZ2

QI 1 Q2|1 OQ3]Q4 Q5|06 | Q7 | Q8| Q9 |QL0jQt1{QI1z Q13 Q141015 Q16 [ Q17
2 4 3 1 2 .4 3 2 1 2 4 1 2 2 4

[y

Q18]0Q19[ Q207021 Q22] G231 Q24 [ Q25 [ Q26 | Q27] 028 0291 030
1 3 4 4 3 3 2 2 3 3 4 2 2

31)a)He should compare Set-up A and C in order for his experiment to be a fair

test.
b)Comparing containers A and C, there is only one variable changed and

therefore it is a fair test,
c)Set-up A.

32)ajPenguin.
b)None of the groups. A penguin is a bird and the chart does not have a
group for birds.

33)PlantA. Plant A has lesser roots than plant B and is hence not as firmly to
the ground.

34)a)Box Y. .
b)The leaves in the boxes have been classified according to the.type of leaf
edge. Since leaf R has a smooth edge, it should be placed in box Y.

35)a)A->DH>B>C
bjijit doesnt matter which way to.put the seeds.
ii)They do not make food yet. It is for thém to be able to obtain sunfight to
make food when the leaves grow.

page 1{0 3 . page 1
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36)a)s : Mouth.
T : Stomach
U : Small intestine
V: Large intestine.
b)They prodtice digestive juice.
c)Part U absorb nutrients but Part V absorb water.

37)a)Waterproof, hart, not flexible, strong.
b)Material Y.-

38)a)Find out if air takes up space.
b)i)Water level in the trough rose.
if)Bubbles were seen coming out of the straw.

39)a)W : Gaseous X : Liquid

b)W is a gas because it was compressed when more substance X is added.
Since only gas can be compressed hence W must be a gas.

A

b}Yes. A patch of blue light/a blue shadow instead of a black triangle
shadow.

40)a)

41)a)She wants to find how much light can pass through different kinds of

material.
b)1)Opaque material 2)fransparent material  3)Translucent material

c)Cardboard.

42})a)

iron nail

b)Yes. The copper nail will not be magnetized because copper is

anon-magnetic material.
€)A bar magnét is-a per men ant magnet but the electromagnet is not a

permanent magnét.

page 2



biMercury.
cJPart A.

44)a)22°C. It has reached the room temperature.
b) :

43)a)37. 2°C.
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